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int a,float b; (!

while(a>3);

if(a>0 & a<10) (z

else: (o

+a+;(e
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main {



int a,b,c,
cout<’enter number:’;
cin>>a,b,c;

cout<”jame="<<a+b+c;

}
V Olg>
#include <iostream> CCumz 3 GO0 (2955 _F Jlgw
using namespace std;
main(){
cout<<2*3/5*%5-6%2,/19+1;
¥
O Olo>

(3,108 Slsz)FCommnzr g2 by Olgr & Jlgw

#include <iostream>
using namespace std;

main()

{
int a= 3;
if(a»3)

cout<<"a"<<a;
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#include <iostream: C S a3 (g yguws az ool L>
using namespace std;
ﬁain(} a=atb; Cly>
int a,b; b=a-b;
cin»»a>>»h;
. a=a-b;
cout<<a<<b;
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Please enter id:

Please enter birth:
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You’re id code iS: ..cuuvueeeeereereennnns You’r birth is: ....cccceveeeeneene. User Name is: ...cceeeerveneenennnns

olg>



B> @ <@ O | Buid target:| Debug B %5 5 "Divtamirin haftom\noheml'bin\Debuginohoml.exe" [r=lC

tedad danesh amoozan?2
please enter i1d:123456789
b odm = | please enter hirth:1382
= | | | [ vour birth is:1382 your id code is:123456789 your name isz?88
please enter id:?787654321
please enter bhirth:1388

- = = - your hirth is:1388 vour id code is:987654321 your name is3@8
#include <lostream>
. Process returned B <(Bx@) execution time = 31.378 s
using namespace std; Press any key to continue.
Tmain () {

int n,i,b;

cout<<"tedad danesh amoozan?";
cin>>n;

= for (int f=1;f<=n;f++){

int r,s,9;

cout<<"please enter id:";

cin>>i;
cout<<"please enter hirth:":
cin>>b;
COut{{"ngg birth is:"<<b<<" ",
cout<<"your id gode is:"<<i<<" ",
r=i%10; i=i/10; s=1i310;
= while (b>0) {
g:b%ltf b=b/10;
- 1

int t={g+5)*lCC;
cout<<"your name is"<<t<<endl;}}
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B "D\tamirin haftomnohom2ibin\Debughnohom2.exe”

tedad danesh amoozan?3
vour birth?1384

your id712345678

error _ your id is wrong
error _ your id is wrong
[ your id?712345678908

moallem gerami khosh amadid
vour hirth?1356

g wxSmith Tools Tools+ Plugins DoxyBlocks Settings  Help
ik P> 4 <@ @ |Buid target:|Debug P BE gD BD ]
bga =il |0 |

#include <iostream:>

using namespace std;

your id?9876543218

error _ your id is wrong

pishkesvat aziz khosh amadid

Imain() |
: . Process returned B (Bx@> execution time = 31.319 s
int n; Press any key to continue.
cout<<"fedad danssh amoazan?";
cin>>n;
= for(int i=1l;i<=n;i++){
int id, b;
cout<<"your birth?2": cin>>b;
cout<<"your id?"; cin>>id;
if (b<1000 || b>%9999)
cout<<"\nerror your birth is wreng.......";
if(id<1000000000 || 1id>9999999999 )
cout<<"\nerror your id is wrong.......";

int s5=1id%10;
if( t==s5 || (t+s)=10)1
= } else
if (b>1380)
if (b>»1360
if (b<1360)

b<13

-
3

0)

& &

id=id/10; int t=1d%10;

cout<<"\ngrror _ your id is wrong......";

cout<<"\ndanesh amooz khosh amadi’<<endl;
cout<<"\nmoallem gerami khosh amadid"<<endl;
cout<<"\npishkesval aziz khosh amadid"<<endl;
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tedad danesh amoozan?3

#include <iostreams
using namespace std;
main ()

=i

int n;

cout<<"tedad danesh amopzan?";

hirth71364
code : 728867048
bhirth?1388
code 741691688
birth?1361
code 727263968

13.366

k=3

Process returned 8 C(Bx@> execution time

Preszs any key to continue.

cin>>n;

for(int i=1;i<=n;i++) ]
int b;
cout<<"yonr birth?":

cin>>b;
int c=b*365*24;
int c2=c*cl;

int c3=c+c2;

cout<<"your code:"<<c3<<endl;
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#include <iostream> 5| "D:Mtamrin haftomnohom3SibintDebughnohoms.exe”
using namespace std; tedad danesh amoozan?3
. ] your birth?1234
main () 4321p
your bhirth?8547
Sh ?458ph h?71825
: " your hirth?
int n; 2o p
Mt my ; . o O 7 ?r'r.
cout tedad danssh amoozan ’ Process returned B (BxA> execution time - 16.858 =
cin>>n; Press any key to continue.
=] for(int i=1;i<=n;i++){
cout<<"your birth2";
int b;
cin>>b;
int b2=0;
= while (b>0) {
b2=h2*10+b%10;
b=b/10;
- }

cout<<bZ<<"p"<<endl;
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